oooo (12)
0ooo

20130 70 160
oo oo

ob0oo0 0oooboobooobooboooboooooboooobooboooooon

ooo0oO0d 12,1 0000000 n0000
-3 0 5000000

gbooooOoboooooboobooon

oodnd 12.2 0000000 nO000O
2n < 2"

goooobobobbooooooooooboog

oodno 123 30000000000 nOOOO
6n < 3"

gbobooboooobobooboooboooon

obooo 124 00OO0OO0OO0OO0On00000O0a,0O

1 (n=1000)
(n>1000)

Ap =
Gp—1+ 2

Jodoooooooad
a, =2n—1
goodoooooooad

gbodo 12,5 Doododb 000000 nO
ooooogoo F, 0

1 (n=1000)
F,={1 (n=2000)
Fo1+F, o (n>2000)

gbobooboooobobn0OO0O

F2,, = FuiaFy = (—1)"
goooooooooooo

ooono 126 0 nO0000D0DOOO F,000
gbooobOoboooon0OO0OO

~=a((7) -(57)

ugbooooooooogan

oboo0g 12.7 0000000 n000O
11" —-4"0 70o0oooo

ubobooboobooooboooooon

0000 12.8 30000000000 nO0D00OO
3n? < 3"

00000000000000000000(0O000
00 12300000000000)

oooo 129 ODOOOOOO,O0O0000C,0O
oooobooooo

. 1 (n=1000)
2C,1 (n>1000).
ooooo
C, - (2n)!
nl(n +1)!

0000000o0oUoO@OoOoooooooood
00000o0o0oo0oooooOooooon)

ooo0 12,10 ODODOOOOO nOOOO0OH,O
ooooboooo

1 (n=1000)

H, =
H, 1++ (n>1000).

uboooboooobobonbOOOO
ZHk:(n—i—l)Hn—n
k=1
O0ooO0oo0o0ooOoOoo(@oooooooon

O000000000o0o0ooooooon)

oooooo 12.11 0000000000 F,0
gboooboooboobgrn00O000

Fopy1=F;  +F2000 Foppo=F2 y—F?

n

gboooboooobooon



